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Part A ~

I. Answer any Eight questions. Each question carries 1 weight \‘ (8x1=8)

Explain pivot element.

Define slack variable.

Explain balanced transportation problem.

List out the applications of distribution model.

List out the rules for constructing network diagrams..

Define payoff table.

Define decision alternatives.

Explain irregular fluctuations.
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List out the components of time series.

10. Explain forecasting.

Part B
Il. Answer any Six questions. Each question carries 2 weight (6x2=12)

11. Solve graphically,
maximize 5X1-X2 subjectto X1+X2>=2
X1+2X2<=2
2X1+X2<=2
X1>=0,X2>=0

12. Solve graphically,
maximize 5X1+3X2 subjectto 4X1+5X2<=10

SX1+2X2<=10
3X1+8X2<=12
X1>=0,X2>=0

13. Draw the network diagram to the following.
Activity(i,j) [ 1-2]1-3]|1-4|2-5[3-5|4-6|5-6
Timeduration | 2 | 4 | 3116 |5|7

14. Determine an initial basic feasible solution to the following transportation problem by using the method
having lowest cost.

D1| D2 | D3| D4| Supply ,r\
st 211615 3| 1 (\i s




S2 1718 14 | 23 13
S3 32127 18| 41 19
Demand [ 6 | 6 | 8 |23

15. Explain optimistic approach.
16. Explain Laplace criterion.
17. Explain time series and its components.

18. Solve the game whose pay off matrix is given by,

B1 B2 B3
Al 1 7 2
A2 6 2 7
A3 5 1 6

Part C
Ill. Answer any Two questions. Each question carries 5 weight

19. Solve the LPP:
maximize Z=3X1+5X2+4X3 subject to 2X1+3X2<=8
2X2+5X3<=10
3X1+8X2<=10
3X1+2X2+4X3<=15
X1>=0,X2>=0,X3>=0

20.
1. Explain assignment problem.

(2x5=10)

2. A company has four machines to do three jobs. Each job can be assigned to and only one
machine. The cost of each job on each machine is given in the following table.

Machines
1 2 3 4
18 24 28 32
13 17 19
10 15 19 22

Jobs
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21. Explain decision table and decision tree with an example.

22. Solve the following 2 x 3 game graphically

B1 B2 B3
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